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Siz questions may be answered. '
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Candidates should state the text-book used in order to indicat;e"
gequence followed. E

1. Prove that the medians of a triangle are concurrent and tha
they divide one another in the ratio 2: 1. E
D, E, F are the mid-points of the sides BC, CA, AB resped ively
of a triangle ABC : construct the triangle so that AB=3 ins., AD=I14
ing,, CF=2.7 ins. |

[30 ma.rksi

9. Prove that if triangles are equiangular their correspo
sides are proportional.

Two circles A, B of diameters &, b touch externally at P. ThIous
P a line is drawn intersecting A, B at Q, R respectively : proveHE

PQ : PR=a: b. B
(30 markéd

3. Prove that the area of a triangle is equal to jbesinA, WASS
b, ¢ are the lengths of two of the sides and A is the contained &

ABC is a triangle right-angled ab A. A parallelogram &
equal in area to ABC and its sides PQ, PS are equal to AB, AC
tively : find the mumber of degrees in each of its angles. :
[30 markSs ¥
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BC is a triangle : prove the equation connecting BC® with
and cosA when A (i) is an acute angle, (ii) is an obtuse

| the number of degrees in the smallest angle of a triangle
ides are 1:6 ine., 2:2 ins., 1-8 ing in length.
; [30 marks.]

line AB, one foot in length, is divided internally at P and
lly at P, so that AB.AP=BP? and AB.AP,=BP;?. Express
s of AP, AP, in simplest surd form,

s geometrical constructions for finding the points P and Py

ed not be given but the construction should be clear.)
[30 marks.]

rove thatlif ‘a polygon inscribed in a circle be equilaferal it
be equiangular but that the converse theorem is not always

[30 marks.]

ove that the bisector of an angle of a triangle divides the
gide into segments which are proportional to the other two
‘the triangle.

how to construct a ftriangle being given the base, the
‘angle and the point at which the bisector of the vertical
ets the base.

[35 marks.]

ve that the rectangle contained by the diagonals of a cyclie
al is equal to the sum of the rectangles contained by the
sides.
 the orthocentre of a triangle ABC, AD is the perpendicular
on BC, while L, M, N are the mid-points of OA, OB, OC
: prove that 2BC.LD=AB.CO-}AC.BO.
Use the cyclic quadrilateral LMDN).

(35 marks.]

th the usual notation for a triangle ABC prove that
A where R is the circumcirele of the triangle.

angles of a triangle contain 45° and 22§° respectively and the
the circumcirele is 3 ins. Calculate the length of the longest

[85 marks.]

b— 4
BC! is any triangle : prove that tan}(B-— C)zb—-_ltgcot 3

16387, c=259, A—98°, ealculate the values of B and a.
1 [356 marks.]



